Multiplication d’'un Monome par un Trinome (1)
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Simplifiez chaque expression.

C20(—v° — Tut 4+ 20%)

7 (5p* + 5p® + p?)

9s'(—6s! + 9s* — 65?)

- 2a°(2d° + 4a* — 5a®)

(6t — 9t + t)

—7v*(8v* — 30® + 20?)

- —3s%(65 + 25 + 25?)

—Tm*(—6m* — 4m> — 8m?)

m?(m? — 4m — 1)

- —6h(9R° — 3h* — 613)
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Multiplication d’'un Monome par un Trinome (I) Réponses
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Simplifiez chaque expression.

C20(—v° — Tut 4+ 20%)

— 0% — 140° + 40?

TP (5p* + 5p® + p?)

= 35p° + 35p° + 7p*

9s*(—6s" + 95 — 657)
= —545% + 815" — 54"

2a°(2a° + 4a* — 5a°)
— 44" + 8¢ — 10a®

(6t — 9t + t)

— 6t — o3 4 42

—7v*(8v* — 303 + 207)
= —560° + 210" — 14¢°

- —3s%(6s" + 25” + 25?)

= —185% — 65" — 65°

—7m*(—6m* — 4m?> — 8m2)
— 42m8 + 28m" + 56m°

m?(m? — 4m — 1)
= m° —dm* —m3

- —6h(9R° — 3n* — 61°)

= —54h% + 18h° + 36K*
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